

$$a + \text{yellow circle} = b + a$$

$$\text{blue square} \cdot n = m \cdot \text{yellow circle}$$

$$(\text{yellow circle} + b) + \text{green triangle} = a + (\text{blue square} + c)$$

$$(xy) \text{ yellow circle} = x (\text{green triangle } z)$$

$$k (\text{green triangle} + \text{blue square}) = \text{yellow circle } t + \text{yellow circle } p$$

$$a + b = b + a$$

$$\square \cdot n = m \cdot \bigcirc$$

$$(\bigcirc + b) + \triangle = a + (\square + c)$$

$$(xy) \bigcirc = x (\triangle z)$$

$$k (\triangle + \square) = \bigcirc t + \bigcirc p$$

$$a + b = b + a$$

$$m \cdot n = m \cdot \text{○}$$

$$(\text{○} + b) + \text{△} = a + (\text{□} + c)$$

$$(xy) \text{○} = x (\text{△} z)$$

$$k (\text{△} + \text{□}) = \text{○} t + \text{○} p$$

$$a + b = b + a$$

$$m \cdot n = m \cdot n$$

$$(\text{yellow circle} + b) + \text{green triangle} = a + (\text{blue square} + c)$$

$$(xy) \text{ yellow circle} = x (\text{green triangle} z)$$

$$k (\text{green triangle} + \text{blue square}) = \text{yellow circle} t + \text{yellow circle} p$$

$$a + b = b + a$$

$$m \cdot n = m \cdot n$$

$$(a + b) + \triangle = a + (\square + c)$$

$$(xy) \circ = x (\triangle z)$$

$$k (\triangle + \square) = \circ t + \circ p$$

$$a + b = b + a$$

$$m \cdot n = m \cdot n$$

$$(a + b) + c = a + (\square + c)$$

$$(xy) \circlearrowleft = x (\triangle z)$$

$$k (\triangle + \square) = \circlearrowleft t + \circlearrowleft p$$

$$a + b = b + a$$

$$m \cdot n = m \cdot n$$

$$(a + b) + c = a + (b + c)$$

$$(xy) \circlearrowleft = x (\triangle z)$$

$$k (\triangle + \square) = \circlearrowleft t + \circlearrowleft p$$

$$a + b = b + a$$

$$m \cdot n = m \cdot n$$

$$(a + b) + c = a + (b + c)$$

$$(xy)z = x(\triangle z)$$

$$k(\triangle + \square) = \circ t + \circ p$$



$$a + b = b + a$$

$$m \cdot n = m \cdot n$$

$$(a + b) + c = a + (b + c)$$

$$(xy)z = x(yz)$$

$$k (\triangle + \square) = \bigcirc t + \bigcirc p$$

$$a + b = b + a$$

$$m \cdot n = m \cdot n$$

$$(a + b) + c = a + (b + c)$$

$$(xy)z = x(yz)$$

$$k(t + \blacksquare) = \bigcirc t + \bigcirc p$$

$$a + b = b + a$$

$$m \cdot n = m \cdot n$$

$$(a + b) + c = a + (b + c)$$

$$(xy)z = x(yz)$$

$$k(t + p) = \textcircled{\bullet} t + \textcircled{\bullet} p$$

$$a + b = b + a$$

$$m \cdot n = m \cdot n$$

$$(a + b) + c = a + (b + c)$$

$$(xy)z = x(yz)$$

$$k(t + p) = kt + \text{⦿}p$$

$$a + b = b + a$$

$$m \cdot n = m \cdot n$$

$$(a + b) + c = a + (b + c)$$

$$(xy)z = x(yz)$$

$$k(t + p) = kt + kp$$

# Свойства действий над числами

$$a + b = b + a$$

$$m \cdot n = m \cdot n$$

$$(a + b) + c = a + (b + c)$$

$$(xy)z = x(yz)$$

$$k(t + p) = kt + kp$$